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Choose the incorrect statement about the following reaction coordinate.

free energy —— =

progress of reaction ——— =

¢ (A) The equilibrium between A and C is determined by the energy difference E.

¢ (B) The rate of the reaction of A to C is determined by the energy difference D.

¢ (C) The structure B has only a transient existence. It cannot be putin a bottle and studied.
¢ (D) If only the energy of A is lowered the reaction will proceed at a slower rate.

¢ (E) The equilibrium between A and C is determined by the energy difference E.
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